Medium Palr 18FT 14" 24FT Ligh 12FT Dec Medium Palr Medium Palr Medium Ligh	coration/Lighting	Location	Quantity	Price Each	Total Price
Medium Palr 18FT 14" 24FT Light 12FT Dec Medium Palr Medium Palr Medium Light					
Medium Palr 18FT 14" 24FT Light 12FT Dec Medium Palr Medium Palr Medium Light					
18FT 14" 24FT Light 12FT Decomposition Medium Palmomedium Palmomedium Light	Decorated and LED lit wreath with large red bow East Front Entrance Comm		1	\$350	\$350
24FT Light 12FT Decomposition Medium Palm Medium Palm Medium Light	Im trees wrapped at center wth 700 LED warm white light	East Front Entrance Commun	4	\$150	\$600
12FT Dec Medium Palr Medium Palr Medium Ligh	" Lighted/decorated garland with red bow per concrete	East Front Entrance Commun	10	\$500	\$5,000
12FT Dec Medium Palr Medium Palr Medium Ligh					
Medium Palı Medium Palı Medium Ligh	ht and decorate live tree	City Hall Fountain Area	1	\$3,000	\$3,000
Medium Palı Medium Ligh	corated and LED lit wreath with large red bow	City Hall Fountain Area	1	\$2,500	\$2,500
Medium Ligh	lm trees trunk wrapped with mini lights	City Hall Fountain Area	4	\$250	\$1,000
	lm trees with RGB up light on frawns	City Hall Fountain Area	4	\$250	\$1,000
Cas all Dive	tht posts wrapped with lit garland and red bows	City Hall Fountain Area	2	\$250	\$500
Small Bus	shes with LED mini lights (net lighting - approx. 10 nets	City Hall Fountain Area	5	\$150	\$750
10FT Gia	ant lighted red bow on top of City Hall building	City Hall Fountain Area	1	\$2,750	\$2,750
20FT Ligh	hted Happy Holidays sign	City Hall Fountain Area	1	\$1,000	\$1,000
60" Dec	corated and lit wreath with bow	City Hall Main Entrance	1	\$300	\$300
Medium Tree	ee trunks wrapped with mini lights (left of pathway)	City Hall Main Entrance	7	\$150	\$1,050
Medium Tree	ee trunks wrapped with mini lights (right of pathway)	City Hall Main Entrance	11	\$150	\$1,650
Medium Tree	ee trunks wrapped with mini lights (left side of building	City Hall Main Entrance	14	\$150	\$2,100
9FT Stai	Stairs inside City Hall leading to Council Chambers garland City Hall Main Entrance		2	\$250	\$500
	garland wrapped along bridge	City Hall - Bridge Area	1	. ,	\$2,000
	corated and lit wreath with red bows on each side of br	· · · · · · · · · · · · · · · · · · ·	4		\$1,100
	ne trees in median - trunk only wrapped with mini lights	· · · · · · · · · · · · · · · · · · ·	10		\$1,500
Small Bus	shes with LED mini lights (net lighting - approx. 10 nets	City Hall - Bridge Area	4	\$150	\$600
100FT Fou	untain railing wrapped with LED mini lights	City Hall - Bridge Area	1	\$300	\$300
				d= 000	A
	D C9 perimeter lighting	City Hall - Perimeter	1	. ,	\$5,300
	ee trunks and branches wrapped with mini lights	City Hall - Grass Area	6		\$2,100
Small Palr	lm tree trunks wrapped with mini lights	City Hall - Grass Area	12	\$15 <mark>0</mark>	\$1,80 <mark>0</mark>
Medium Pale	Im tree trunks wrapped with mini lights	Carson Street - right side of s	17	\$200	\$3,400

3x6FT	Lighted street banners on Carson from Bonita to Main	Street banners - Carson & Av	20	\$650	\$13,000
3x6FT	Lighted street banners on Avalon from 220th to Del Amo	Street banners - Carson & Av	20	\$650	\$13,000
				Total	\$68,150
	Extra Lights & Decorations for 24' Live Tree	City Hall Fountain Area	1	\$3,500	\$3,500
	Red Bow On Awning	East Entrance Community Ce	1	\$2,300	\$2,300
	Palm Trees with Special Lighting	East Entrance Community Ce	1	\$800	\$800
				Total	\$6,600
				Grand Total	\$74,750
2 75FT	LED C9 perimeter lighting lower level	North East Entrance Commun	1	\$1,925	\$1,925
Small	Bushes with LED mini lights	North East Entrance Commun	6		\$900
Small	Tree trunks and branches wrapped with mini lights	North East Entrance Commun	6	•	\$900
Small	Scroll potted trees wrapped with mini lights	North East Entrance Commun	3		\$300
6FT	Winter wonderland scene with reindeer in grassy/bush ar	North East Entrance Commun	1	\$1,800	\$1,800
Small	Tree trunks and branches wrapped with mini lights	Atrium - Community Center	8	\$175	\$1,400
60"	Decorated and LED lit wreaths with large red bows	Atrium - Community Center	3	\$300	\$900
6FT	Lighted reindeer on west grass area	Atrium - Community Center	3	\$300	\$900
90"x26"	LED lighted scrolls on each column	Atrium - Community Center	8	\$500	\$4,000
36"	Lighted tear drop sprays with bows	Atrium - Community Center	16	\$150	\$2,400
Small	Tree trunks wrapped with mini lights	Patio A Courtyard - Communi	2	\$200	\$400
Medium	Lollipop tree trunks wrapped with mini lights	Patio A Courtyard - Communi	6		\$1,500
Small	Bushes with LED mini lights (net lighting - approx. 20 nets	•	20	\$100	\$2,000
Large	Banana tree trunk wrapped with mini lights	Patio A Courtyard - Communi	1	\$350	\$350
18FT	Light and decorate live tree	Community Center	1	\$5,500	\$5,500
18FT	LIVE tree purchase, install and removal	Community Center	1	\$4,000	\$4,00 0

10FT	Light and decorate live tree	Community Center	1	\$2,500	\$2,500
10FT	LIVE tree purchase, install and removal	Community Center	1	\$2,100	\$2,100
6.5FT	Light and decorate live tree	Community Center	1	\$600	\$600
6.5FT	LIVE tree purchase, install and removal	Community Center	1	\$400	\$400
Custom	Holiday music system player	City Hall Fountain Area	1	\$3,750	\$3,750
24FT	Light and decorate live tree -	City Hall Fountain Area	1	\$ 8,600.00	\$ 8,600.00
24FT	LIVE tree purchase, install and removal	City Hall Fountain Area	1	\$ 6,500.00	\$ 6,500.00
				Total	\$53,625
				SubTotal	\$128,375
	Duplicated Costs from 2020 Enhancements (included al	novel			
24FT	Light and decorate live tree	City Hall Fountain Area	1	\$3,000	\$3,000
	Extra Lights & Decorations for 24' Live Tree	City Hall Fountain Area	1		\$3,500
	Red Bow On Awning	East Entrance Community Cer			\$2,300
	Palm Trees with Special Lighting	East Entrance Community Cer	1		\$800
	. 5 5	,		Total	(\$9,600)
	S. haralda a Sahara a a a S. D. dirata di Carta Sara 202			Constant	440075
	Subtotal less Enhancements & Duplicated Costs from 202	<u> </u>		Grand Total	118975
Size	ADDITIONAL OPTIONS	Location	Quantity	Price Each	Total Price
Medium	Palm tree - FRONDS lighted with green mini lights	East Front Entrance Commun	4	\$200	\$800
5FT	Lighted red bow on awning	East Front Entrance Commun	1	\$ 2,300.00	\$2,300
12FT	Lighted walk-thru ornament	East Front Entrance Commun	1	\$5,000	\$5,000
Medium	Palm tree - FRONDS lighted with green mini lights	City Hall Fountain Area	4	\$200	\$800
90"	New custom vinyl banners with new St. Nick's design	Atrium - Community Center	8	\$200	\$1,600
12FT	Lighted walk-thru ornament	Atrium - Community Center	1	\$5,000	\$5,000
Reg	C9 lightes glued to archway of City Hall entrance	City Hall Main Entrance	4	\$4,000	Complimenta

Reg	C9 lightes affixed to the angled pillars on the side of the b	City Hall Main Entrance	10	\$15,000	Complimenta
2FT	Animated lighted snowfall tree topper for live tree	City Hall Main Entrance	1	\$1,500	Complimenta
Reg.	Projector with custom gobo	City Hall - Bridge Area	1	\$1,500	Complimenta

Total	\$15,500
-------	----------

Grand	Total	\$134,275
Grana	i Otai	7137,273

COMP (no charge) \$22,000

Yellow = 2020 decorations Green = 2021 additions Blue = optional enhancements